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Al 2,391,209
- 1,778,930
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= 533,446
Il 1,221,229
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- 60,3%4
KNSAR SSEALSEAMNY 2 241,578 202,212 A50,634
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101 e124d| 42,000 79,300 A37,300
Il 21,000
Al 10,500
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NGNS SSALSTAIY JIZHNZ 2 2
= 42,000
- OLET], HAlolg2elAty 2 lA4HI(1
&) 21,000
J| 10,500
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- DHIAFAAAIY 2 1HHI(19) 21,000
J| 10,500
Al 5,250
- 5,250
201 el 52,578 66,912 A14,334
Il 26,289
Al 13,145
- 13,144
01 At22t2l] 51,978 66,312 A14,334
NSA2 SSALYSTAE 28 X2 51,978
AHES, S, dgt MY 29 9,978
J| 4,989
Al 2,49%
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alL= = 4,000
Il 2,000
Al 1,000
- 1,000
OtEml, & =2 3,500
Il 1,750
Al 875
T 875
2= 10,000
Il 5,000
Al 2,500
- 2,500
(GRS £ 2 12,000
Il 6,000
Al 3,000
- 3,000
- B2A DHLEAH AL 8,000
Jl 4,000
Al 2,000
- 2,000
KAAEIS

SIS 2,500
Il 1,250
Al 625
- 625

02 E32g4l 600 600
THEAAY & 600
Il 300
Al 150
- 150

202 04| 5,000 5,000
Il 2,500
Al 1,250
- 1,250

01 2L AL 5,000 5,000
KG At SE g4 5,000
Jl 2,500
Al 1,250
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7l 65,199
Al 310,425
- 346,900
OtSd3dH 28 558,000 558,000 0
Al 279,000
- 279,000
101 e124d| 288,360 288,360 0
Al 144,180
T 144,180
M ORIMZZ2NSE S 288,360 288,360 0
OtSHZHE A52tSAF Q12|
2,300,000& «18E«6& 248,400
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- 124,200
OISAAUE &E2IAAUHEEE S
370,000 «18H~6& 39,960
Al 19,980
- 19,980
201 er23| 109,280 97,120 12,160
Al 54,640
- 54,640
01 AtR2te|Hl 102,620 92,620 10,000
OISAZHE Z28 28 S
6,000,000 *9IH 2= 54,000
Al 27,000
- 27,000
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T 19,360
OtSABHE e SRz
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OISAZHE I |XH S 500
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T 500
301 EtE N = 136,620 136,620 0
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
SXNEAMY EXQIH| 10,000 10,000 0
Jl 5,000
Al 2,500
- 2,500
101 e124d| 10,000 10,000 0
7l 5,000
Al 2,500
- 2,500
04 JIZtN2Z2 XS 2 10,000 10,000 0
STEAAY 22015 10,000
Jl 5,000
Al 2,500
- 2,500
HEDAE2H-E ME 1,940 1,940 0
308 XM SOIE 1,940 1,940
13 SI[2SOHe & EAS A 1,940 1,940
HEQUEA-E MH 1,940
AP A0 A2 2] XA (HEALY) 763,5% 763,5% 0
Al 649,057
- 114,539
308 AXIMSOIA 763,5% 0 763,5%
Al 649,057
- 114,539
18 SIS0t HAS A 763,5%6 0 763,5%
AR A0 AZ2te] X3 763,5%
Al 649,057
- 114,539
AR AIMOF A2 2te] XIAR (KHAI) 56,000 56,000 0
Al 28,000
- 28,000
308 XXM SOIA 56,000 0 56,000
Al 28,000
- 28,000
18 SIS0t oA AS A 56,000 0 56,000
A AIMOL H22e] XIAFE (RHAI) 56,000
Al 28,000
- 28,000
Ol=0F & A& H0IA0F 224l X2 46,272 26,000 20,272
Jl 23,136
Al 11,568
- 11,568
307 gl2to| & 46,272 26,000 20,272
Jl 23,136
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el SAEY U DUALSTAIY (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 30,000
Al 15,000
- 15,000
307 @I2to| & 60,000 60,000 0
Jl 30,000
Al 15,000
- 15,000
012z & 2=H| 60,000 60,000 0
LAY =H| K& 60,000
Il 30,000
Al 15,000
- 15,000
HNasSE I ZHES N3N 530,000 460,000 70,000
= 265,000
Al 132,500
- 132,500
308 AXIHSOIA 530,000 0 530,000
= 265,000
Al 132,500
- 132,500
18 SIS0t 4 A A A 530,000 0 530,000
NASE I ZHEs N 530,000
= 265,000
Al 132,500
- 132,500
DAY LR IIMERD XA 3,000 3,000 0
307 lztol & 3,000 3,000
05 2IMRIE =3 3,000 3,000
DAY AR IAESR0] X~ 3,000
SHLUALOIY BA 2 20t 2tel 30,000 30,000 0
Jl 15,000
Al 7,500
T 7,500
307 elztol & 30,000 30,000 0
Jl 15,000
Al 7,500
- 7,500
0122 & 3=l 30,000 30,000 0
SHEUAIOIY SAH R 2H0F 2t 30,000
Il 15,000
Al 7,500
- 7,500
S AN 2| X 3,380 2,600 780
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 1,690
Al 845
- 845
307 @I2to| & 3,380 2,600 780
Jl 1,690
Al 845
- 845
012z & 2=H| 3,380 2,600 780
HEd HEHEA & 2FIINE 3,380
Il 1,690
Al 845
- 845
IR0t 2 FZAH NE 6,807 4,519 2,288
Jl 5,446
Al 1,361
307 @I2to| & 6,807 4,519 2,288
Jl 5,446
Al 1,361
012z & 3=l 6,807 4,519 2,288
=0t e LB A XE 6,807
J| 5,446
Al 1,361
destrsd i AZHN A 23 1,250 1,250 0
) 1,000
Al 250
201 er2 3| 1,250 1,250 0
Il 1,000
Al 250
01 AtR2te|Hl 1,250 1,250 0
s =aTA AZBA 2 S S2H| 1,250
7l 1,000
Al 250
HEMoH A+ 22l K& 21,600 21,600 0
Al 21,600
301 EtE NS 21,600 21,600 0
Al 21,600
02 AR 2HALFS(HAAS, XLHE) 21,600 21,600 0
HE Lol At Qedg-+g A& 21,600
Al 21,600
SAF HOF YE2AZ2c] At 17,899 18,704 A805
Jl 2,230
Al 2,229
- 13,440
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 4,459 5,264 A805
Jl 2,230
Al 2,229
01 At2teltl 3,19 4,004 805
PdEE =23 L MNRSE 7Y S 2,000
) 1,000
Al 1,000
ZZ)H 28 A 828 S 1,199
Jl 600
Al 599
2 22| 1,260 1,260 0
Ye8 HUAS 23
35,0003 +3CH* 12 1,260
) 630
Al 630
202 04| 13,440 13,440
01 2LHA b 13,440 13,440
=& 04 280,000 x4E12& 13,440
dsHiErdAls XY 6,000 6,000 0
Jl 3,000
Al 1,500
- 1,500
307 @I2t01 & 6,000 6,000 0
7l 3,000
Al 1,500
- 1,500
012z & a=Hl 6,000 6,000 0
dsHAELMA= T 6,000
Il 3,000
Al 1,500
- 1,500
I EEE XA 5,000 0 5,000
Al 5,000
307 elztol & 5,000 0 5,000
Al 5,000
012z € 2=H] 5,000 0 5,000
IHUAEEX ALY 5,000
Al 5,000
gal At A 2te] X3 AL 75,000 0 75,000
Il 37,500
Al 18,750
- 18,750
307 el2to| & 75,000 0 75,000
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el SMEd 2 RAASBS A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 37,500
Al 18,750
- 18,750
012z € 2=H] 75,000 0 75,000
2l AME Ad2e| K 75,000
Jl 37,500
Al 18,750
- 18,750
XIOHOlI & 22l At 489,022 469,433 19,589
Jl 243,852
Al 214,689
- 30,481
XIHXIZ 2elH] X2 At (HEALY) 175,408 175,408 0
Al 175,408
308 XXM SO0IH 175,408 175,408 0
Al 175,408
13 S [2S0He & EAS A 175,408 175,408 0
XOHxIZ22dl X Ard 175,408
Al 175,408
SHUXIOH 22l AL 8,800 8,800 0
Al 8,800
301 LEtE NS 8,800 0 8,800
Al 8,800
02 ANRI2HHHS(HAAS, NLHE) 8,800 0 8,800
stolXIofol g2l X2 8,800
Al 8,800
AOHetayME 29 299,314 279,325 19,989
Il 239,452
Al 29,931
- 29,931
201 er23y| 147,742 132,425 16,317
) 118,194
Al 14,774
- 14,774
01 At2teltl 131,085 121,625 9,460
Z2OY 2 (LSHE 8 7Y) 10,000
Il 8,000
Al 1,000
- 1,000
ANt dEe 2225 S 7 35,000
Jl 28,000
Al 3,500
- 3,500
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Xofetaldy 2SS (Atd2tel s) 7Y 31,485
Jl 25,188
Al 3,149
- 3,148
dAXEY S SR L 22l 25,140
Jl 20,112
Al 2,514
- 2,514
S=usHl S X2
60,0002 x 162 *13] 960
Jl 768
Al %6
- %
HSHTAE 2822 S 7Y 8,500
Jl 6,800
Al 850
- 850
AojetattEs & =24 29 20,000
Jl 16,000
Al 2,000
- 2,000
2 352484l 16,657 10,800 5,857
AN 2K 228 S 5,000
Jl 4,000
Al 500
- 500
g 5 50,0002 «2CH~ 122 1,200
Jl 960
Al 120
- 120
RUR= 10,000
Il 8,000
Al 1,000
- 1,000
Hol2EE S 457
Il 366
Al 45
- 45
202 04l 1,600 1,600 0
Jl 1,280
Al 160
- 160
01 =LHOLI 1,600 1,600 0
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
S0l 1,600
Jl 1,280
Al 160
- 160
203 HR=H] 1,000 1,000 0
Jl 800
Al 100
- 100
03 A=A 2= 1,000 1,000 0
A=A AP FXY 1,000
Jl 800
Al 100
- 100
301 22N = 40,972 36,300 4,672
Jl 32,778
Al 4,097
- 4,097
11 #AIAHIXIE S 500 2,000 21,500
A2 S X OIAHR0l, THESALRL S) 500
Jl 400
Al 50
- 50
14 0Bt 2a3 40,472 34,300 6,172
XIOHH&HE] S 2IAL
343,000 x2H #5223 35,672
7l 28,538
Al 3,567
- 3,567
XIOHQHA MIE ZAtE
80,000 222 1,760
Jl 1,408
Al 176
- 176
FOUWE A 35,0003 *323] 1,120
Jl 89%6
Al 12
- 12
AR S AL 2SH|
10,0002 x4 *43]« 123 1,920
Jl 1,536
Al 192
- 192
307 lztol & 108,000 108,000 0
Jl 86,400
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 10,800
T 10,800
0192 & 3=l 108,000 108,000 0
Xt 2228 s +Y 90,000
Jl 72,000
Al 9,000
- 9,000
XIOHe Xt ZE S At 18,000
Jl 14,400
Al 1,800
- 1,800
SSAE3s=A 5,500 5,900 A400
Il 4,400
Al 550
- 550
201 2= 100 500 A400
7l 80
Al 10
- 10
02 324l 100 200 A100
SHe 288 S 100
Jl 80
Al 10
- 10
301 Eet2 NS 5,400 5,400 0
Il 4,320
Al 540
- 540
14 DBt 2 a3 5,400 5,400 0
=70l =) 5,400
Jl 4,320
Al 540
- 540
HAEAHALY 1,660,497 1,274,199 386,298
= 268,446
Il 593,542
Al 416,023
- 382,486
AL =RNEEH 2E 51,100 51,100 0
Jl 25,550
Al 12,775
- 12,775
307 @120l & 51,100 51,100 0
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7l 25,550
Al 12,775
- 12,775
05 git?(& = 51,100 51,100 0
FHAL=FNEYH 2 51,100
Jl 25,550
Al 12,775
- 12,775
JI=ZFAAUSINY 1 == 748,800 748,800 0
Jl 374,400
Al 187,200
- 187,200
307 gl2to| & 748,800 748,800 0
Jl 374,400
Al 187,200
- 187,200
05 2I2tRIE S 748,800 748,800 0
JIZFAALSXME IHESE 748,800
) 374,400
Al 187,200
T 187,200
IIZFUAL=EXLH 2 (Al BX) 41,287 41,287 0
Al 41,287
307 212+01& 41,287 41,287 0
Al 41,287
05 212+ = 41,287 41,287 0
FUALFXNHEH SALR S+ 41,287
Al 41,287
Ol - 44 JAE2AAMY 13,300 13,300 0
) 6,650
Al 6,650
307 @201 & 13,300 13,300 0
Il 6,650
Al 6,650
05 2IR”IRIE = 13,300 13,300 0
OlS - Fad FUEAHAE 13,300
Jl 6,650
Al 6,650
Aaog & HAALSTAY 82,120 82,120 0
Jl 41,060
Al 20,530
- 20,530
307 lztol & 82,120 82,120 0
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ol AEAASE (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
7l 41,060
Al 20,530
- 20,530
05 git?(& = 82,120 82,120 0
Aaroe & JAUALBSTAY 82,120
Jl 41,060
Al 20,530
- 20,530
oA T2 XA 13,650 13,650 0
Al 3.825
- 9,825
307 212+01& 13,650 13,650 0
Al 3,825
T 9.825
05 2ItRIE = 13,650 13,650 0
NaRIIRS daldd 22 0d N2 6,000
SSYNTE Es2d Z2 08 29 7,650
Al 3,825
- 3,825
oA Ao (HANRIEE 29 8,400 8,400 0
201 2= 8,400 8,400
01 Al 22IH| 8,400 8,400
BAALA(MANFIRE S
100,000 x7 &= 122] 8,400
SYINALSTAL 101,000 101,000 0
Jl 50,500
Al 25,250
- 25,250
307 glztol & 101,000 101,000 0
Jl 50,500
Al 25,250
- 25,250
05 2IR”IRIE = 101,000 101,000 0
SEEUAL ST A 101,000
Jl 50,500
Al 25,250
- 25,250
Katolle & HAUAUSEAG (A EX) 18,582 18,582 0
Al 9,291
- 9,291
307 glztol & 18,582 18,582 0
Al 9,291
T 9,291




SH: AUBD
M HUEW
ol BA2AAMY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
05 2ItRIE = 18,582 18,582 0
Aaoed s JAUABSTAY 18,582
Al 9,291
- 9,291
JIZZAALYSKNEE NHAMZAIY K& 190,764 176,368 14,3%
Il 95,382
Al 47,691
- 47,691
307 el2to| & 190,764 176,368 14,3%
) 95,382
Al 47,691
T 47,691
05 21t = 190,764 176,368 14,3%
JIZZAUALEXNME K0EAIS K 190,764
Jl 95,382
Al 47,691
- 47,691
OIS XISl X3 A 28,000 19,592 8,408
= 14,000
Al 7,000
- 7,000
307 212+01& 28,000 19,592 8,408
= 14,000
Al 7,000
- 7,000
0122 € =4 28,000 19,592 8,408
JAEEA XIEH! X AL 28,000
= 14,000
Al 7,000
- 7,000
=8 OISSA XZ A 363,494 0 363,494
= 254,446
Al 54,524
- 54,524
308 AHAIEMSOIE 363,494 0 363,494
= 254,446
Al 54,524
- 54,524
18 SIS0t oA AS A 363,494 0 363,494
d=2 DISSA N3 363,494
= 254,446
Al 54,524
T 54,524
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M HZYRAZH(AZSI 1)
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AY2LZH(HLBA ) 1,527,636 1,534,549 26,913
Jl 784,944
Al 221,405
- 521,287
el 2| 1,462,783 1,471,208 A8,425
Jl 784,944
Al 221,406
- 456,434
el 24| 119,656 118,171 1,485
101 @124H| 119,656 118,171 1,485
01 &= 119,656 118,171 1,485
SAHAAAH R AR 2D H) 119,656
1= 79,479
-LERIIM" IS A
6,623,250« 128 79,479
X ZEXH| 4,800
-LEAIIM"H S 400,000& 122 4,800
- NG AHI 140,000& * 122 1,680
- 22 HREY(2IAY
1,312,000~ 128 16,744
= 0IH] 280,000 * 122 3,360
AteI22sg
15,0502 #37 Al 2t* 12 6,687
At aH|
6,623, 2502 *84%+80%+1/30% 102 1,595
s 485,910~ 123 5,831
HEE 480
- At 40,0002 12 480
QA2 AI(XIHAHEH 2¢) 691,386 734,108 N2, 722
Il 553,108
Al 69,139
- 69,139
101 @124H| 691,386 734,108 N2, 722
) 553,108
Al 69,139
T 69,139
02 JIEtME = 691,386 734,108 N2, 722
XIOHQHAMIE] 2 ole QIAH| (AP EIHI
JIHl Ot2 16E) 691,386
2+ 2 B8 S
2,765,000 *16E* 1204 2 530,880
Il 424,704
Al 53,088
- 53,088




SM: ALEXY
S HY2IAH|(AHLSE
SERRIEESS(T (Shol: &2)
A - B G(3H) - NRAY - HES ol ke G o HlmS2
- HUZAH| 140,00024 162 * 1204 2 26,880
| 21,504
Al 2,688
- 2,688
S EXH|
175,000 *7/8Al 2+* 16+ 12J4 & 29,400
| 23,520
Al 2,940
- 2,940
CHelatst|
50,0002 *7/8Al 2+*16H*12IH & 8,400
J| 6,720
Al 840
- 840
- S LHOIHI 240,0003 x16G 1200 & 46,080
| 36,864
Al 4,608
- 4,608
A2t ==E 98,600 * 16+ 1242 18,932
| 15,145
Al 1,84
- 1,893
olZHRLY
50,0002 *7/8Al 2+*16H*12IH & 8,400
J| 6,720
Al 840
- 840
Samesy
110,0002 *16Z 12042 21,120
J| 16,89
Al 2,112
- 2,112
- HOE 4|
2,350,0002 1/7*1/30+84%+86%+ 16 * 10A| 2+
1,294
J| 1,035
Al 129
- 130
QIHARHH(N A SEHLSEAIY) 210,700 180,000 30,700
J| HA,350
Al 47,175
- 69,175
101 eI H| 188,700 161,280 27,420
| HA,350
Al 47,175
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SA: AVBHD
Mz HHSHAY|(HASED)
Ce|: ol 2AH|
SN - BB () - NRA - BAS ofl b A
CENEIDRTEET)
2,772,000& 28 x 128 66,528
SEAN2LE 110,000& 2 x 128 2,640
S AH| 140,000& 2= x 128 3,360
- AZE | 175,000 +7/8x2H = 12& 3,675
- elEsH| 50,000& %7/8+x2H x 12& 1,050
- 201 280,0002! 224 128 6.720
NEISES=!
9,800&*22A| 2Hx2H x 12E 5,207
- HOE AHH|
2,350,000 1/7%1/30%84%*86%*2% 70 A| 2+
1,132
OlESAY|(SHXMEIAAIY Z22A) 129,582 129,582
J| 64,791
Al 32,39
- 32,396
101 @1244| 116,461 116,461
J| 58,229
Al 29,115
- 29,117
03 22 (2I|H)2EXNE 4 116,461 116,461
KEAE] S SHARAEIAAIE 116,461
AUAMHS 1,433,300& *3H 4,300
J| 2,150
Al 1,075
- 1,075
JlE=2 2,407,000&+x3H x 128 86,652
J| 43,326
Al 21,663
- 21,663
HHZAH| 140,000 3"+ 128 5,040
J| 2,520
Al 1,260
- 1,260
- HESOHH| 2,407,000 x3H x80% 5,777
J| 2,888
Al 1,444
- 1,445
- JIELE 90,0002 *x2H x 128 2,160
J| 1,080
Al 540
- 540
AXRSEIIIE
92,8102 *x3H »20L 5,569




ABS AL
HH2SEJH(AZ ST 1)
Il 2a|

SA - HB . S(BH) - MBAY - HaS A
J| 2,784
Al 1,392
= 1,393
Al2tel g
9,6703*20A| 2++3%H x12& 6,963
J| 3,481
Al 1,741
- 1,741
M ASRE3S 13,121 13,121
J| 6,562
Al 3,280
- 3,279
M SRA(RIHL) 22X BE8E22H=2 S 13,121 13,121
SREX22X BEESREZ S 13,121
FoAATER
126,850 *3H 122 4,567
J| 2,284
Al 1,142
- 1,141
=0UHAZREZ2
147,900& *3H = 12& 5,325
J| 2,663
Al 1,331
- 1,331
- NEEE 52,2002 x3H *12& 1,880
J| 940
Al 470
- 470
AATHNE S 37,4703 x3H +12& 1,349
J| 675
Al 337
- 337
OIHASYH|(FAEAA AMR) 46,640 46,538
101 214d| 46,640 46,538
2 JIEt ™ 2 46,640 46,538
ANZHIEH LD MBS RA (1Y) 46,640
24 2 AUEE 2,755, 370&*12& 33,065
HHZAH| 140,000& * 12& 1,680
- AZE x| 153, 1202 = 12& 1,838
- CHelEr =Y 43,7503 123 525
- = LHO{HI 200,000& = 12& 2,400
A2l =S 9,860 *20A|2tx 12& 2,367
S 125,010 *12& 1,501
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M HAPAZH|(ALSED)
chol: ol (19 @)
A - Z - E9I(E) - KIRAY - BaS ofl &4 G o HIDEY
- HOE &I
2,604, 4102 «84%+86%+ 1/30%1/7x70A1 2t 628
dtHsE 219,503 128 2,636
QIA2HH|(AR Lot LEAHA2A2] AMY) 174,507 171,844 2,663
Il 72,695
Al 72,6%6
T 29,116
101 e124d| 174,507 171,844 2,663
Il 72,695
Al 72,6%6
T 29,116
02 JIet& 2= 174,507 171,844 2,663
MOH D] H22el AIEAIY AlZFHETRIY
IINBLH OHS (4%) 174,507
H4 9 BER S
2,600,000 «4E 12 124,800
Il 62,400
Al 62,400
- JHS 230,000 x4H 122 11,040
| 5,520
Al 5,520
E=XRE 118,000& x4« 123 5,664
Il 2,832
Al 2,832
SRS
50,0003 +7/8+3F 122 1,575
J| 787
Al 788
o2 At
2,400,000 +84%+86%*1/30%1/7x70 Al 2H+4FH
2,312
Il 1,156
Al 1,156
OiEay 3,480
2 Xt 40,0002 4323 122 1,440
-2 20,0002 1% 12 240
=2 20,0002 +12 122 240
DUE
(30,0002 *22+70,000& x1H )+ 122 1,560
- ZAsAl 140,000 x4« 123 6,720
g2 x|
175,000 +7/8AI2H+4H12& 7,350
telssy|
50,0002 %7/8Al 2H+x4H 122 2,100
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